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A Simpfoin, which has witnesses - 10172 29°Pn 2°97Y 1HY WO PBNAD
on it; should be authenticated by its signatories

Overview

There was a query regarding a receipt in the possession of the m%», whether it is
proof that the m? paid or can the m»» claim I merely prepared it in case the % will
pay me. The &7m3 cited the Xn>92 of "IN 0»pn° 2°7Y 12 Ww 11910, indicating that
if it 1s @ pn it is a valid receipt. Our MdOIN clarifies the proof from the Xn»72.

mooIn responds to an anticipated question:!
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It seems that the one who brought this proof from the Xn»92 assumed that the 1191°0
was in the possession of the 719, since he refers to it as a 135%%0, for when it is in

the possession of the /7% it is called a 22w -
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And the meaning of 172720 is an expression of nullification.
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And additionally the assumption is that it is m>nn 702, for if it was Y957 7°2, it is
obvious that with 2y it is a valid "2w. The xn>>72 does not need to teach us this.

Summary
We know that the Xn»™92 is discussing where the receipt is m>»i 73, since it is

referred to as 1197°0 (not as 12W), and also MY 7°2 there would be no w7n.

Thinking it over
1. Why does mo01n mention that 13910 is 710°2 Ww2? What does that prove?

2. Seemingly the second answer is sufficient; why do we need the first answer??
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We will return to you 1mR anw

! Seemingly there is no proof from the ’n™12 because perhaps the ®n»"1 is discussing a case where the m> had the
1191°0, not the M7», in which case all agree that it is a valid 22w (if it was 21pn).

2 See ‘Thinking it over’ # 1.

3 See M0 won X # 137-9.
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